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A |47 |58 |68 | 7H [8A |98 (104|117 128 | 17 | 28 | 3A N | Avg| Std |[RSD% |Min.|Max.
pHiE| 7.3| 7.3 7.2| 6.8 6.8 7.2| 6.9 7.1| 7.4 8.3 7.3] 6.9 12| 7.2 0.4 5.6/ 6.8 8.3
BOD 4] 3 3 2 1 1 0| 2 3| 42 6] 3 12| 5.8/ 11.5| 197.1 0| 42
COD| 5.4 5 3| 4.1| 0.2| 5.1| 6.5 2.7] 1.3] 25.2| 8.5| 9.3 12| 6.4/ 6.5 102.4| 0.2] 25.2
S S 0 0 1 0 0 of 0 1 2| 32 30 12| 3.3 9.1| 280.2 0] 32
HEAAY|  95(104.5122.4/153.1(249.6| 78| 47.3| 62.4| 88.9| 92.6| 73.3|113.4 12 [106.7| 53.0| 49.7| 47.3|249.6
RIGERER 0 0 0 0 0 0 0 0 0| 200 0 0 12 | 16.7| 57.7| 346.4 0] 200
T —N| 3.78] 3.64| 4.58| 0.92| 1.73| 2.31| 0.5| 1.1| 0.7| 30.6] 32.5| 18.3 12 | 8.39(11.84| 141.2| 0.5| 32.5
T—P| 0.06] 0.1| 0.08] 0.05| 0.09| 0.06] 0.07| 0.11| 0.2| 4.52| 0.13] 0.03 12 | 0.46| 1.28| 279.2| 0.03] 4.52
B |4 |58 |6H | 7H |83 | 94 |10 |11H [12H | 1H | 2H | 3H N [Avg| Std |RSD% |Min. [Max
pH1E| 6.8 6.9 7.1] 6.9 7.2| 7.1] 6.9 7 70 6.9] 6.9 7 12| 7.0/ 0.1 1.6/ 6.8] 7.2
BOD 4 4 1 2l 3 2l 2 3 2l 8 1 2 12| 2.8/ 1.9 67.0 1 8
COD| 6.2| 6.9 4.2| 7.3 4.4 5.3 2.1| 4.6] 3.4] 9.4] 4.5| 6.2 12| 5.4/ 2.0 36.3 2.1] 9.4
S S 0o of o0 0 0 o of o0 0 0 0 0 12 0.0/ 0.0 - of 0
HFAF(252.4(235.4(256.7| 224|259.5|197.1|191.4(197.1|232.6(252.4|236.8|266.6 12 [233.5 26.2| 11.2|191.4|266.6
PN 0 0 0 0 0 0 0 0 0 0 0 0 12| 0.0/ 0.0 - 0 0
T—N| 1.68] 1.55| 1.03| 1.95| 1.54| 1.16| 1.3| 1.2| 0.7| 1.4] 0.7] 1.9 12 | 1.34 0.41| 30.6/ 0.7] 1.95
T — P 0.32] 0.31] 0.37] 0.33] 0.78| 0.24| 0.26] 0.32| 0.31| 0.27| 0.12] 0.37 12 | 0.33 0.16| 46.8| 0.12] 0.78
C |47 |5 |6H |78 |8H |94 |108 |114 |12A | 1H | 2 | 3H N | Avg| Std |[RSD% | Min.|Max.
pHfE| 7.2| 7.2| 7.1] 7.1 7.3| 7.2 7| 8| 7.6| 7.6] 7.4 7.7 12| 7.4/ 0.3 4.1 7 8
BOD 4 4 2 4 4 3 1 2 3 3 2l 2 12| 2.8/ 1.0 36.3 1 4
COD| 9.1| 5.9/ 12.4/ 9.8] 9.9 5.1| 6.1| 2.8/ 12.1| 7.7| 6.6] 4.2 12| 7.6] 3.1| 40.0| 2.8] 12.4
S S 0o o o0 0 1 of o o0 1 0 1 2 12| 0.4] 0.7 160.5 0 2
54 A (357.3(163.1]187.2/181.5(180.1|159.5[154.6(246.7|418.3|483.5|476.4|399.9 12 (284.0(132.3|  46.6|154.6|483.5
Kigsss o of 0 0o 0 o o o0 0o 0 of o0 12| 0.0/ 0.0 - of o0
T—N| 1.66 1.15| 1.64| 1.47| 1.31| 6.25| 7.2| 0.9| 13.4| 1.5/ 60.5| 35.2 12 [11.02|18.41| 167.1| 0.9] 60.5
T—P| 0.03] 0] 0.04f 0.2] 0.28) 0.04] 0.05] 0.09| 0.5 0.07 0] 0.04 12 | 0.11] 0.15| 132.3 0] 0.5
D |44 |5H |61 | 7TH [ 8 |94 (101|110 |12/| 14 | 2H | 3H N | Avg| Std |[RSD% |Min.|Max.
pHiE| 7.2| 7.6] 7.6/ 7.7| 8.1| 8.1| 7.5 7.5 7.7| 7.3] 7.5 7.4 12| 7.6/ 0.3 3.6 7.2| 8.1
BOD 33 2 9 5 2 3 3 3l 2 1 2 12| 3.2 2.1| 65.7 1 9
COD| 10/ 10/ 9.1/ 22.1] 9.3| 7.1| 8.1 3.7| 2.3| 8.6/ 9.9] 7.3 12| 9.0] 4.8 53.7| 2.3] 22.1
S S o of o0 1 0 0o o o0 0 0 of 0 12| 0.1] 0.3 346.4/ 0 1
#iFA 4| 1026] 1073]992.6|808.3| 1101 1146 1111| 1111| 1101| 1238]931.2| 1049 12 [1,057.3/110.2|  10.4/808.3| 1238
YN A 77 0 5/ 2 0o o o0 0 0 of 0 12| 1.3 2.5 192.8 0 7
T—N| 32| 7.71| 5.52| 58.9| 5.58| 27.4| 39.2| 13.9| 62.4| 27.9| 4.1| 4.1 12 [24.06]21.01| 87.3| 4.1] 62.4
T — P | 0.04] 0.07| 0.08| 0.24| 0.13| 0.14] 0.05| 0.06| 0.06| 0.04| 0.04| 0.05 12| 0.08 0.06| 71.5| 0.04| 0.24
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E |48 |58 |68 |78 |87 |94 [10A (114|127 | 18 | 28 | 3A N | Avg | Std |[RSD% | Min.|Max.
pHfi| 7.7 7.6/ 7.6| 7.7 7.5 7.6| 7.5 7.6| 7.5 7.5 7.5/ 7.3 12| 7.6] 0.1 1.4 7.3 7.7
BOD 3 2 3 3 5 3 4 1 20 2 2 3 12| 2.8 1.1] 38.4 1 5
COD]| 6.1| 6.1| 9.1| 10.4] 9.9] 8.7 5/ 4.6 5/ 2.4] 3.6] 3.9 12| 6.2 2.7| 42.7| 2.4] 10.4
S S 0 0 0 0 of o 0 0 0 o o 0 12| 0.0 0.0 - 0 0
fiFAA(148.2(130.5(156.7|171.6|141.1|134.7| 95.7| 78| 90| 58.8| 78.7| 79.4 12 [113.6| 37.5| 33.0| 58.8/171.6
KIGHARER 7 0 0 0 0 0 0 0 0 0 0 0 12| 0.6] 2.0] 346.4 0 7
T —N | 4.45| 4.74| 5.47| 4.39| 5.69| 5.37| 5.7| 5.1| 6.9| 8.2 5 5 12 | 5.50| 1.08| 19.7| 4.39| 8.2
T—P| 0.19] 0.17| 0.62| 0.49| 0.64| 0.2] 0.03| 0.04| 0.04 0| 0.03| 0.04 12 ] 0.21] 0.24| 115.2 0] 0.64

F 47 |5H |6H | 7TH [ 8H | 9H (104 [11H [12H | 1H | 2H | 3H N | Avg | Std |[RSD% |Min.|Max.
pHE| 7.1| 7.3| 7.3] 7.3 7.2| 7.2| 7.2| 7.3] 7.3| 7.4 7.4| 7.4 12| 7.3 0.1 1.3 7.1 7.4
BOD 3 1 2 4 6 1 3l 2 1 2 1 1 12| 2.3 1.5 68.7 1 6
COD| 2.3 8.6/ 85 6.1 6.5 4.9 5.6/ 5.2| 6.2 5/ 5.1] 7.2 12| 5.9 1.7 28.8] 2.3] 8.6
S S 0 0 0 0 of o 0 0 0 of o 0 12 0.0 0.0 - 0 0
$iFA42[341.7(330.4[418.3| 302(304.9|219.8| 234|270.8(336.1|317.6]303.5| 302 12 [306.8| 51.7| 16.9/219.8/418.3
KIGHTRER 0 0 0 1 0 0 0 0 0 0 0 0 12| 0.1] 0.3 346.4 0 1
T—N| 1.51] 2.75| 2.37| 2.2| 1.91| 1.43| 1.3 1.3| 3.6| 1.8] 1.3] 1.7 12 1.93] 0.70| 36.3| 1.3] 3.6
T — P 0.25 0.38] 0.44| 0.22| 0.22| 0.07| 0.05| 0.05| 0.11| 0.06] 0.03| 0.09 12 | 0.16] 0.14|  83.9/ 0.03| 0.44

G |48 |5A |6 |7H |8H |94 |10H |11A4 [12A| 11 | 24 | 3A N | Avg| Std |[RSD% | Min.|Max.
pHE| 7.2 7.2| 7.2] 7.2| 7.2| 7.2 7.9| 7.9] 8.1 8| 8 7.9 12 7.6/ 0.4 5.3 7.2] 8.1
BOD 2 2l 2 2 3 3 1 1 3 2 1 2 12 2.0/ 0.7 36.9 1 3
COD| 8.2| 19| 19.2| 19.1] 17.3| 17.1| 0.6| 1.6/ 3.7| 4.8/ 5| 5.6 12 10.1| 7.5 74.6| 0.6] 19.2
S S 0 0o 0 0 of o0 0o 0 0 of o 0 12| 0.0 0.0 - 0 0
H#AA(955.7| 1013|964.2(935.9(887.7| 787(792.7|811.1|538.8|343.2/935.9(950.1 12 [826.3198.3|  24.0/343.2| 1013
KGHERS 0 0 0 3 of o0 0o 0 0 0o o0 0 12| 0.3 0.9 346.4/ 0 3
T—N| 22| 35| 33.529.2| 25.1| 22.5| 9.1| 16.4| 12.1| 27.4| 8.1| 8.1 12 (20.71 9.79| 47.3| 8.1] 35
T —P| 0.05 0.45/ 0.07| 0.09] 0.11| 0.12| 0.1| 0.2| 0.21] 0.4] 0.1] 0.13 12| 0.17| 0.13|  76.1| 0.05| 0.45

H |44 |5H |6H | 7H [ 8A | 9H 104 |11H |12H | 14 | 2H | 3H N | Avg| Std |[RSD% | Min.|Max.
pHfE| 7.2| 7.1 7.3| 7.2| 7.2| 7.2| 7.2| 7.3| 7.3 7.6 7.5 7.4 12| 7.3 0.1 2.0 7.1 7.6
BOD 2 1 0 2 0 1 2l 2 20 2 1 1 12| 1.3 0.8 58.4 0 2
COD| 2.6 2 2| 1.9 2.3 1.9 2.9 2| 1.2] 1.8 1.9 1.9 12| 2.0/ 0.4 20.8 1.2| 2.9
S S 0 0 0 0 of o 0 0 0 of 0 1 12| 0.1] 0.3 346.4/ 0 1
fiFEAA| 69.2] 59| 66.9| 65.2| 58.1| 47.5| 53.2| 59.8| 55.9| 63.2| 65.2| 74.6 12 | 61.5| 7.4| 12.1| 47.5| 74.6
YN 0 0 1 1 1| 16 1 0 2 0 0 12| 1.8) 4.5| 246.00 0| 16
T—N| 1.2/ 1.28) 1.5 1.55 1.32| 1.24| 1.3| 1.2| 0.7 0.7 1.1] 1.2 12 1.19/ 0.26| 22.0| 0.7| 1.55
T—P 0 0o 0 0 of o0 0 0 0 o0 o 0 12 | 0.00| 0.00 - 0 0




